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— L Posting to the
Y IL Mahngadjnsﬁngmdclomgen-
tries.
— IO IOtll'nal'ni)g:’ i
T sV Preparation of final accounts,
4 . 4 Extracting a trial balance,

(4)

",

©
(D)

% Theterm "book-keéping” canbe descrbed

recording the assets and liabilities
of a business T
mﬁngtheumﬁm;ot‘almi-
ness

the made
mmnﬁngthepmﬁts by a
recording closing stock of a

followed? 3. Anincrease in drawings will result i
OLI,I, Vv, Iv : O o
HI.I:V.II,IV B :nm:loqg o

' LI, V, I, IV % e

D) OLLV.IV,I am?mlﬂm

o) an increase in capital
Ilﬂm_j_-'_zrefertothebalmcasheabehw. ‘
asat December 31, 1991,
$ 3 $
Capital 12000 “Land & building 9000 ~
Add Net Profit 4 000 van 5000
16 000 “Fixtures & fittings 600
Less Drawings 500 15 500 Stock 450
. Creditors 2100 Debtors 250 | =
Bank 2000 )
Cash 300
17 600 17 600
4, The total fixed assets are 6. - The working capital is
(A  $9000 Ty (A $ 300
+ '$14 000 B $ 45
T ) i !5‘050:‘.:.:_“ o ""‘__‘::—"‘-—'“‘—-— ) - szmqm_'___,___._ .
R i ’&Jlﬁf HTEERkze 3 ! =5 .
R it e 2 sl wm ol = . T T
s 'l‘hetoulunrmtamm 7. The dcid test ratio is
$2 550 ) @ 12:1
. $3000— B) 14:1
C’.,:; 113 _,"ﬂ_x’ - . (C) 70:1
@) 38 D) 84:1
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II I‘n‘. ' ! I = c - l
Assets = Liabilities ~ Capital
©) Liabilities = Assets + Capital
(D) Capital = Assets + Liabilities
The balance sheet of a business BEST shows
(A)  what the business owes
é) what the business owes and owns
everything about the business
‘Which of the following are nominal accounts?
. L Wagﬁ'
I Credifors -
m. Purchases e
Iv. Fumniture
@ 1 and III only
®B) I and IV only
© 11 and III only
1)) I and IV only

Wh:chmmalenuynmqnnedmthelxm
of B. Jones who started a businéss by deposit-
mgssui)nﬂgﬁehmbmkmt?

A)

DebltBankAwoum
Credit B. ImquAccoum
DehtC:pualAwom

'CreduBankAomum

¢

Debit B. Jones Account -
CreduCapnalAwmu

-; i e

'l'hefollowmgdedtmmsatemadeﬁnmthe

13.

14.

—_—

15.

Peter, Gail and John formed a partnership.
‘When the partnership deed was drawn up no
mention was made as to how profits and losses
were 10 be divided. }bwmmmﬁe
shared among them? -

(A) Inpmpaﬁmmmnlm
® Inrdolnllnw much work is done

by each partner.

’@ Divided equally among the three

D) Divided in accordance with each
parines’s age.

Tom, Percy and John formed a partnership and
agreed that profits were to be shared in ratio:
1:1:2respectively. The net profit for the year
was $18 900. Whuwaslohnsshaeot‘tbe
Jofi?

"

$ 4725
@ 3 9450
$14 175
D) $189%00 .
A businessman bought a new typewriter for
$6 000. He paid $4 000 in cash and traded in

his old typewriter, Whamﬂlemrymlecml
this transaction?*

(B) Dr.ou‘ijhewdu $2000

IL B«hndebuanduadnhﬁyv:m
amdbyﬁcmmmt.s/
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Which of the following is used to check the
. miﬂmwucalmyofthaenﬁmmme
Gerieral Ledger?

(A) ° The CashBook -

used in keeping stock records?
I LIFO
L Pespetual
11 0 FIFO
IV.  Periodic
' 1and 11 only
1 and 11 only
. and I only

| i atgan  $100000
$0,00 ©  Less Drawings ~25000
Wnnﬂ e N 1
S vy o R
= kg fs : pisdl it

i‘i ¥o 5 - )

21.  Auwaderadds33 1% to his cost price in order

toarrive athis selling price. If his sales for the

. yearamounted t0$24 000, what was his gross
pvﬁtfonhsyea?

A) | $4000
B i

$ 8000
®  $10000

Iticm 22 refers to the following information
whichmhws'toﬂtebusilmof'l'&TLtd

Opmsmck(mw) $3 500
Closing stock (cost price)  $4 200
Rate of stock Tumover $ 9

22.  How much s the cost of siock sold?

LA
$31 500
& S
©) $36 800
(D)  $37800

23. On May 1, a petty cashier received an imprest
., of$150. During the month peity cash expen-
ses amounted 0 $77.00 and $2.00 was re-
teived from a member of staff who.made a
pefsonal telephone call. How much cash’is
needed 10 restore the imprest on May 317

(A $ 73.00°
$ 7500
$ 77.00
(D)  $150.00

24, AcredubankbalancemtheCashBook
mdlcamﬂml

(A) there is a balance in the bank
‘B “ioo miich cash is paid out of the

officé
( :gp the bank balance is overdrawn
) 00 many dmcounts were allowed

25. Whmhofﬂlefoﬂomngmrwordedmme

debit colizmn uf!h‘l.‘CﬂBonk?
z-’t LR
Cash Receipis
Cash

Payments
(D) Cash Discount Received
GO ON TO THE NEXT PAGE







‘.5.

A discount received of $12.00 was posted to
the wrong side of the Discount Received

21. A.Smmwldmodlmaednmn Sharpe.
g Howwouldﬂllsmberecmﬂedm

Account. What wouldbe the adjusting entry? the books of B, Sharpe?
(A)  DebitDiscount Received $24.00 (A)  Dr. A Smart Ak 2 Sha-pe
(B)  Credit Discount Received $12.00. Cr. Sales Alc Lol s
" Debit Discount Received $12,00 Dr. Purchases Afc | A >
), Credit Discount Received $24.00 Cr. A. Smart Alc
(C)  Dr. Purchases Ak
Cr. B, Sharpe Alc
(D)  Dr.B.Sharpe Ak
Cr. Sales A/c -
ltems 28 - 30 refer to the following information:
Trinbago Ltd.
Orange Street
To: XYZCo.Lud
Plum Road
D’ Abadie, Trinidad
Invoice No.: . AO09 Date: January 1st, 1992
Unit
: Price 'l‘otl_ll
20 | cases Guava Wine 7000 | $1400.00
40 | cases Cherry Brandy 75.00 3 000.00 %
60 | cases Rum Punch 60.00 3 600.00 *
Less 20% trade discount
Terms: wm&y&/@-;ﬁls'&ys.

‘Whatis the meaning of the terms ‘net 30 days,
2i%15 days’? -

A - Nomditpamdzsgmbmme

debwrmlltweivez %seulc— .

: mtﬁmmtlfhemsmm
da

. : ‘_'q B
(B) mmﬁum

mgﬂiﬂ' lSdaystiOchyni‘he
waz—%wmmmtdam
Auaditpmodofﬂ)dayusgwm.

o "‘"‘(D) $8 000

29. What is the actual amount of the invoice?

$5 600
$6 400
C  s7000 -

30. IfXYZCo.L!dpmdﬁorﬂ'ngoodstanuary
lZdulMMwmachﬁdﬂwyammﬂypay?

S 2t ssm Cal . cqoo
Vs o gm .o el el . 0?'
,;.c)'-‘-_i-.. .m_.-.-, i Q
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31. A trader received an invoice for $4 000 less
25% trade discount. Subsequently he returned
one eighth of the goods. What amount would
be entered in bis Returns outwards account?
&z

$400
(C) $450
D) ssoo

32 ‘Which of the following is NOT recorded in

the General Journal?
@ Cash sales

) Comrection of errors
© Credit purchase of assets
(D)  Opening entries

33. The following account appeared in the ledger

of D. Pierre:
Rates
199 3 1991 $
45 Jan.1 Balance 45

Itallntenpaymmmdefotapermdof
mmmﬁs,whtamomtmﬂbemmfwed
wdlerﬁtdemsAccoumonDeeember
31, 1991? '

A)  $120

$150
$210 -
$255

34, : Thefollowing information relatestothe busi-
ness of T, Watts:
January1  Debtors 8400
January 1  Provision for .
Tomstit T Baddebts” 336
Dec:* 31  Debtors - 9 600
During the yéar $350 in bad debts were
written off. Ifﬂnemwmfabnddebuxs
.wbead;medmﬁofdebmﬁhmm'
wmktbpdeﬁﬁadmlﬁewnebum
mDeeunBuSl? iy i
@ $350
) $466
(€  $480
D)  $494
%F};" S R S L )

Items 35 - 38 refer o the following informa-
tion:

Opening stock at costprice ~ $3 800
Closing stock st cost price ~ $1-600
Rate of stock turnover 8
Elpmslﬁdsdu 15l

Grossprofittosdles 333.

N

35.  Thecostof salesis
$12 800
$21 600
$30 400
®)  $43200

36.  The tumover is

$17 066

(®) 528800
©  $32400-
@)  $45600

37. The gross profit is
(A) $ 5689 v

. $ 9600 -
& $10 800
)  $15200

38.  Thenetprofitis
@ $ 829

®B) $4740
$ 5940
e (D) $10340__ .

/

39. | Onlammyl 1988, aeompany issued 4000
; 5ﬂﬁnnhﬁwuefumshmatmpar
value $10 ¢éach. If dividends were not paid

~  until December 31, 1990, what amount would

} the ‘company have to pay in dividends on
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41.

42.

43.

‘g8es e~

A businessman incurred the following ex-
penses:

Factory repairs
Machhuyrepam
$3 000

Nawuhde $7000 | .
What is the total capital expenditure?

(A) $6000
(B) $7000

$ 8000
5
Which of the following principles should be
used in preparing Income and Expenditure

$6 000 |
$2000

:

Debit expenses
Credit income

I, Il and III only
1, D and IV only

I, HI and IV paly
I, I and IV only

At the end of the year the capital of a busi-
of the

$2000. What is his net profit for the year?

@ $ 5000

$ 7000
@)

$30 000
$61 000
‘Which of the following BEST describes
ﬂnneedfuahmmmmbepmuol
accounts? >~
!( )) .'l‘oenm:hatallenu-unhmgto

‘(Bi'

% lﬁe"ﬁ{ﬁnﬂ&ofmmts
. ,r"".e“e‘n";& - l l':-"-.

Wludl ot'dn followm; BESTdmibw a
quas:pannu‘? :
A lhahlmwﬁwptm.mlhebnﬂ—

ﬂ.
: Heisliableonlymﬂwmofhm
m

o lkkareﬁwwholumhhm—
veiﬁimuammdwhﬁnm
(D) . He is a retiree who receives re-
doced profits.
TRHTOY AT

-7

Include all receipts and paymenis

45.

46.

47.

43.

-~
-

meanm
pay, deductions net pay a p’lﬂl
period?

Time card -

Income tax tables

(D)  Payslip

Iiems 46 - 50 refer to the following informa-
tion:

Smith, Brown and Robinson are par-
ners who share profits in the propor-
m«mmdssmnooo
and $1 Mmlpecuvely
Netpoﬁtil&’llm
Interest on capital is 5%
Robinson is paid a salary of $300

Smith’s current account is credited with

(A)  $1150
$1700
$4250
$6 400 \

Brown’s current account is credited with ,_

]

(A) $1 150
$1700

; $4 250
D) $6 400

Total interest on capital amounts to

$50
$100

(A)
AAAAA —HE

Smhhsdueofdlemﬂsmw
(A) s 800

.~ $1 600

34000
(D) "T$6400°

Robmsﬂmeofﬂepoﬁuammm

$ 800
(B) $1 600
(C) —$4000
@) $6 400

-

-~ GO.ON TO THE NEXT PAGE
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"51.  Which of the following are reasons why co-

w&;ﬁmnﬂnfomw«m-

operative societies are formed?
L To serve the intesest of its members. Kelly B. Hind borrows $2 000 froin his
1L o encourage thrifi among its mem- Credit Union. The rate of interest is 1%
% bers. per month on the ontstanding balance.
IL Toallow its members to share in its Mr. Hind's instalments are $120 per
profits. ) month payableat the end of each month.
IV. To give members an opportunity 10
share in the management opera-
tions. i For the first month his interest payment is
(A) I, II and IIT only (A) $ 1.00
(B) I, MandIV only (B $200
1L I and IV only $10.00
@) LI, Ol and IV $20.00

52..  Which of the following are characteristics of 55. The amount of the principal repaid at the end

a public limited eompm_:y? of the first month is
L The minimum number of members $100
. isseven. B $110
1 Itrestricts the right to transfer shares. (© $118
10 Tt offers shares for sale to the public. ~ o) 119
Iv. There is no limit to the size of its
-  membership. ‘
- 56 The outstanding balance at the end of the
(A)  IandIlonly second month is - )
(B)  Hland IV only g
Cl I, I and IV only (A) $1881
@ 1, I and IV only ®) s1882
' . $1890
g $1799
53. A public limited company issued a prospec- .
tus offering the following shares for sale at :
par value: ' 57. P, Hawk has a manufacturing business, his
: raw malerials cost $1 900; Ratesand rent total
Type Amount | Par value $2 000 and factory wages amount to $2 500.
| ~Ordimary—— ={~20000 | $200 ~ | ————The number of units produced is 640, What -
2 it B is the cost of one unit?
5% Preference | 10000 | $5.00. : PO OF.
Prefefence 5000 | $8.00 : " $6
If the issue was fully substribed, how much C(%t) _ ::g
capial did the compapy pis? B
(A) .$.40000
e (B) ;:zi":e:agrs @e—;e’-:"g y Tt “
3-130(!”:}'1--‘:- 2
Iip e i “ GOONTUTHBNEXTPAGB'
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58. M. Smith has a manufacturing business: 60.

His expenses are as follows: Prime cost $10000
Overheads 16 000
Fattory rent $600 Work in progress
Factory lighting $800 January 1 3000
Factory repairs $850 Work in progress
Faclory wages $900 December 31 5000
What is his total variable cost? From the above extract what is the year’s cost
] of production of finished goods?
(A)  $600
(B)  $850
| $890 (A)  $14000
@ $900 ()  $18000 4
( $21 000
5
59.  H. Stone has a manufacturing business:
His expenses are as follows:
Factory lighting $1 000 - )
Factory wages $2 000 .
Office salaries $2 500
General administrative -
expenses $4 000
How much ig his total direct expenses?
(A) $1000
$2 000 B
' $3 000 %
) $4000

IF YOU FINISH BEFORE TIME IS CALLED, CHECK YOUR WORK ON THIS TEST.




e




